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A | H X H R =B RS | ZHEE (M)
12 | 1 THETHBEREREER = £ 5, 000
12 7 THHBIRBFRFEIIEEREXEREANESR = £ 6, 000
12| 8 THETEZEANY S TESRRL0AFLEESRENES = B 5, 000
12 | 14 THERRER BEE 5,000
12 | 14 BEE BEE 69, 352
12 | 18 BERKEEREHR BEE 5,000
12 | 18 BEREEREHR BEE 5,000
12 | 22 | HIOE+FMBATREAETEREZREABRR = B 5,000
12 | 24 | +FEMEESE 3 2H 4 BHERERXOSESR E 6, 000
12 | 25 HEHHLI2H (TRIVFERREZEE) AREHR BEE 5,000
12 | 25 | MUFBARTREZERNER =z B 5,000
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= £ 6 32,000 45 237, 500
n & 0 0 5 29, 030
REE 4 20, 000 33 188, 000
BEE 1 69, 352 1 69, 3562
BEhE 0 0 0 0
2hhE 0 0 6 12,674
RE® 0 0 1 10, 000
Z Dtk 0 0 0 0
a8 F 11 121, 352 91 606, 556




